TR —A1.67 =HPEe  AREE B LR KEFEE
B 20094
H H H 1 2 3 4 5 6 7 8 9 10 11 12 £
A |H1/3 (m) 8. 14 7.44 4.63 5.20 3. 59 4,67 2.47 4,46 4,71 5.58 4.69 5. 60 8. 14
KA R 1
i T1/3 (s)| 10.9 12.3 10. 6 9.3 7.8 8.6 6.1 7.3 8.3 9.4 8.9 10.2 10.9
iOEE (B -BE) 31-18 1- 2 14-18 26-10 18- 8 7- 4 8-14 31-20 1- 2 8-16 14-10 4-10 1-31-18
B B |HMAX (m)| 12.73 10.75 7.71 8.17 5.45 8.12 4,06 6.71 7.30 8. 77 6.21 9.06 12.73
it i 95 9 1=
54 TMAX (s)| 11.2 12.8 11.4 10.0 6.6 7.3 5.9 6.7 9.1 9.5 8.6 11.0 11.2
H1/3| ¥ % & 2.13 1.84 2.02 1.79 1.58 1.59 1. 47 1.58 1.81 1.76 1.63 1.62 1.73
SEIEE 31 :
(m) | HE %R 2= 1.06 1.09 0.80 0. 84 0.68 0.67 0. 36 0.55 0.67 0.96 0.80 0.89 0.83
- T1/3| & ¥ & 9.1 7.8 8.3 7.7 6.9 6.8 6.5 7.5 8.5 8.4 7.4 7.5 7.7
TR 2= —
(s) | HE¥RE 2.43 2. 04 2.16 1.69 1.05 0.91 0.71 1.40 1.23 1.61 1.31 2.09 1.80
oA % (%) 100. 00 98. 21 98.12 | 100.00 | 100.00 | 100.00 99. 73 99.46 | 100.00 | 100.00 99. 44 99. 19 99. 52
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o TLHAEWE i§%1mr T 11.75%, E%4 s T 0.00°§o
T A 2 1 FEElm—2m 61.75% HE 4 s —6 s 16.17%
1 O FHH E LM 1 W 2m—3m 18 70% 1 M6 s —8 s 46.18%
3 30 WE3m—4m 5.51% 30 8 s —10s 25.64%
~ T 8~ ~ WEdm—5m 1.72% —~ FHH10s —12s  9.29%
E - = WmsmlME  0.57% = EE12s BE 2. 72%
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